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2

Answer two questions from Section A and one question from Section B.
Section A
Answer any two questions.

You may, if you wish, answer both questions on the same author.

Group B: Non-Historical Prose Author

1 Answer the questions on the following passage:

(13 /9 8 \ 5 % b ~ / 14 /A 3 ~ A /
kabapois 0¢ elvar dpa ov TolTo cupPaivel, omep TAdAaL €v TA Aoyw
Aéyeta, T0 ywpilew 06T pdAioTa amo Tov cdpatos Ty Puxny kai €dica
avm kal’ admyy mavraydlev éxk Tol owpatos cvvayeipeclal Te Kkal
abpoileclai, kal olkelv kaTa 16 duvaTov kal év Td VOV mapdvTt Kal év 7O
emerra wovny kal’ avTy, ékAvouévny Womep OeCUMY €k TOU CWUATOS;
“mavv uév odv,” épm.
(I ~ ~ 4 bd 4 / \ \ ~ b \
ovkoUY ToUTO ye Bavaros ovoualerar, AVais kal xwpiopos Puyns amo
cwparos;”

113 ’ / % 2 QI Y

mavrdmaci ye,” 9 6’ 6s.
(13 / / bl 4 4 ~ b \ / \ / 4
Adew 8€ ye avty, ws papev, mpolupotvrar ael patiora kat puovot ot
~ bl ~ \ \ / bl \ ~ /7 ~ 4
dlocodoivres 6plids, kal TO peAéTyUa aVTO TOUTO €0TW TOV PtAdocodwr,
AVais kal xwptopos Puxis amo cdparos: 1 ov;”

“dbalverar.”

“ovkovv, omep €v dpyxm €Aeyov, yelotov dv e€im avdpa mapackevalovld’
cavtov év 7 PBlw ot éyyvrdTw ovra Tol Tebvdvar ovtw {nv, kameld’
NKOVTOS aDT@ TOUTOU AYavaKTEW;

e -~ ~ > w9

yelotov: wds 0’ ov;
[13 ~ ¥ 3/ 9 ¥ [T Z 4 ¢ > ~ ~ b 4
7O ovTL apa,” €pm, “d Zupla, ot 6plds drocodoivres amobviioxew

pererdot, kat 70 Tebvavar kioTa adTots avlpwmwy doPfepdv. éx TdVOE
OS¢ okomet. el yap dwaPéPAnvTar pev mavrayn T® cwuatt, avtyy o€ kab’
avm)y émbupovor T Yuxmy éxew, TodTov 01 yiyvouevov €l pofoivro
Kal AyavakTole, oU oA dv dloyla €in, €l un dopevol éxeioe lowev, ol
bl / bl / b Gl \ / 3/ ~ 3/ \ 4
aicopévols éAris €éaTw o Sua PBiov fpwr Tuxew (Npwv de dpovioews),
° / / 3 / / b ~ N /
@ 1€ dteBéBAgvTo, TovTov amnAddylar cvvévTos adTols; N avlpwmivawy
pev madikdv kal yuvaikdv kal véwv amobavdvTwy modlol &7 €xdvTes
bl / b <, bl ~ 4 \ / b / ~ bl / ~ ~
nlélnoar eis Adov éNbewv, vmo TadTns ayouevor s €Amidos, TNs TOU
oecbal Te éxel v émedipovy kal ovvéceclar povicews 8¢ apa Tis TH
b4 3 ~ \ \ / \ b \ U 3 / ~ ¥
ovTL €pav, Kal AaPwv ododpa Ty avTyy TavTHy éATida, undamos dAlobL
bl 4 bl ~ bl / / N S </, y / bl /
evrevéeclar avTy) aéiws Adyov 7 év Aidov, ayavakTioel e amobvjokwy
Kal oUy aouevos elow avTooe; oleabal ye xp1, éav 745 OvTL ye 7, @ €TalpE,
bAéoodos ahpddpa yap avTd TavTa 66fer, undawod dAlob kabapds
3 4 4 b 3y bl ~ bl \ ~ 4 b4 14 3/
evrevéeclar ppovioer adl’ 1) €xel. €l Se ToUTO oUTWs €xeL, OmEP APTL
b4 b N b / b b ~ \ 4 s ~ 29
€Aeyov, 00 moAA) dv adoyia ein el poPotro Tov Bavatov 6 TolovTOS;
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PLaTO, Phaedo 67c—68b

(a) kabapoats . . . poPepov (lines 1-19): explain the argument Socrates is making in these lines, and

© OCR 2010

show how the language of these lines clarifies the argument.
(b) € yap SwaféBAprrar . . .

[18]

o TowovTos; (lines 20-33): how forcefully does Socrates express the
absurdity of the idea that philosophers might be distressed by the prospect of death? You should
discuss both the content of these lines and the way in which it is expressed.

(18]

[Quality of Written Communication: 4]
[Total: 36 + 4 = 40]
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2 Answer the questions on the following passage:

(a) joav dpa . . .
making in these lines.

1% b 3 / 4 \ \ / \ 5 3 b /7
Noav apa, & Zyuplia, al pvyxal katl mpoTepov, mpiv elvar ev avlpwmov
)/ \ 4 \ / ) 2
€ldeL, xwpls CwUATwWY, Kal Gpovnow elxov.
[T \ b4 |4 / / 3 / / \
el wn apa apa yryvouevor AapPdvoper, & Zwkpates, TavTas Tas
bl / G \ / b4 ¢ / 29
emLoTNUas” 0UTOS Yap AelmeTaL €TL 6 xpovos.
(198 o) 4 ~ b / \ bl \ b / b4 / bl \
elev, @ €talpe’ améAvuer 8¢ avTas €v molw dAAw xpovw; ov yap
3 4 4 4 3
On €xovrés ye avras yuyvopela, ws dpTi wuoloynoauev. 7 €v TOUTW
bl / b Gl \ / N ¥ 3y \ bl ~ / 29
am6AAvuer év Omep kal AapPavouer; 1) €xets AAlov Twa elmely xpovov;
(13 3 ~ %5 /7 b \ ¥ 3 \ 3 \ b 4 29
0vdauds, & Zdkpartes, dAa éabov euavTov 000V elmwv.
(T3] bl 5 4 b4 2 b4 e c ~ 5 /’ b \ b4 o ~
ap’ olv oUTws €xel’, €bm, “Duiv, & Lupia; €l pev €oTw a OpvAovuer
bl / / / D \ \ ~ (4 / b / 3 \ / \ D
ael, kadov 7€ v kal ayalbov kal mdoa 1) TolaUTN 0vGla, Kal €Tl TAUTNY TA €K
~ > 4 4 bl 4 ¢ 4 / bd 4
7OV alofoewy mavTa avagpépouer, VTAPXOVOAY TPOTEPOV AVEVPICKOVTES
€ 3 ~ 3 b} b} ~
NueTépav ovoav, kal TavTa exelvy amewkaloper, avaykaiov, oUTwS WOTEP
\ ~ b4 </ \ \ 4 / \ 5 \ \ /
Kal TaUTO €0TW, OUTWS KAl TNV NUETEPaY Yuxny €lval KoL Tplv yeyoveval

4 ~ b \ \ b4 ~ 3 N ¢ / G b / b 5 b)
Nuds: €l 6€ w1 €0t TalTa, dAAws dv 6 Adyos oUTos elpnuévos €in; ap

2 5 -~ 5 e
oUTws €xet, kal (on avdykn TalTd T€ €lval kal Tas NueTépas Puyas mplv
\ ¢ ~ / \ b \ ~ 3 \ 4 29
Kal Nuas yeyovévat, Kal €l w1 TavTa, 0UO€ TAOE;
¢ ¢ ~ %5 7/ 9 ¥ ¢ 4 [13 ~ 4 3 \ 3 /
vmeppuds, & Zwkpartes,’ épn 6 Zuulas, “Sokel pou 1) adT) avdykm
3 3 ¢ 3 3 o)
elvat, kal €ls kKaAdv ye kaTadelyer 6 Adyos eis 70 cpolws e€lvar TV Te€
\ (4 ~ \ / 4 ~ \ \ b / A \ ~ / bl \
Joxmy Yudv mpiv yevéasbar uas kal Ty odoiav Ny ov vOv Aéyels. ov yap

13 > 5Q % ) v 3 A~ \ / \ )
EXW €YywWye OUSEV OUTW MOl €EVOPYES OV WS TOUTO, TO TTAVTA TA TOLOUT

elvar os oldv Te pdAiora, kKaldv Te kal dyabov kal TdANa mdvTa A oD
vurdr) €leyes: kal €uorye (kavds amodédetkTar.”
“7( 8¢ om KeéBnti;” €dm 6 Zwrparns: “bet yap kat KéBnra mellew.”
“ikavds,” €pn o uuplas, “ds éywye olpar kaitol kapTepdTATOS
avlpwmwy €oTiv mpos TO amioTew Tols Adyois. aAA’ olpat ovk €vOeds
TovT0 Temeiolal avTév, 6Tt TPl yevécohal Nuas By nudv 7 Puxn.”
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PLato, Phaedo 76¢c—77b

o0d€ Tdde; (lines 1-16): trace and explain both of the arguments Socrates is

[18]

(b) dmepdudds . . . 7 Yuxn (lines 17-26): how forcefully does Simmias express his confidence in the

© OCR 2010

conclusion Socrates has just reached? Discuss both the content of these lines and the way in
which it is expressed.

[18]

[Quality of Written Communication: 4]

[Total: 36 + 4 = 40]

2986 Jun10
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Group C: Tragedy
3 Answer the questions on the following passage:

MHAEIA XOPOX  [AXQN
Mn. VOV 7Ol TPATWUAL; TOTEPA TPOS TATPOS OOUOUS,

3] \ ~ \ / bl /
oUs ool mpodovoa Kal TATPAY APLKOUNY;
n \ ’ ’ ~ N 5
7 mpos Tadaivas Iledddas; kalds y’ av odv
déEawtd w’ olkots Wv matépa kaTéxTavov.
3 \ </ ~ \ b4 /
€xeL yap ovTw: Tols wev otkobev pidois 5
exlpa kaléarny’, ols 6€ u’ ovk éxprny Kakds
Spav, aot xapw ¢épovoa moleplovs exw.
Tovydp pe modals pakaplov EXAnridwy
éOnkas avti TGvder BavpaoTov 6€ oe
b4 / \ \ 4 / b ) /
€EXW TOOLY KAL TLOTOV 1) Talaw’ ey, 10

b / / ~ bl /
el pevéopal ye yaiav éxPeBAnuévy,
diAwv épnuos, cvv Tékvols uovy uévots:
KaAoV v’ 0veLdos TR vewoTl vuupim,
mTwyovs dAaclal maidas 1 7’ €owaod oe.

& Zeb, T{ 57 xpuoov pev os kifdnlos 7 15

Tekpnpt’ avbpdmolow dmacas cadi,
y ~ )y o \ \ \ /
avdpav 8’ 6Tw xp1) TOV Kakov dieldéval
0U0€ls yapakTnp Euméduke cwpaTy;

Xo. dewn) Tis Spyn kal dvciaTos méNel,
oTav ¢[/\0L (ﬁf)\owc Gv,u,,Bo'L)\wo’ e"pw. 20
Ia. Set ', s €owke, wi Kakov povar Aéyew,

aAA’ dhoTe vaos kedvov olakoaTpépov
akpoiat Aaidovs kpaomédois Vmexdpapuety
™V oY oTépapyov, & yival, yAwocalylov.
3 \ 3 3 \ \ / ~ /
eyw 8, émedn kat Alav mupyols xdpw, 25
Kibmpw vouilw s euns vavkAnpias
cdyrewpav elvar Bedv Te kavlpwmwy pévm.
\ )y v \ ~ / 3 bl /
oot 8’ €0TL uev vovs Aemrros: aAX’ emiplovos
Aoyos Otedlev ws "Epws o’ qraykacey
/ 3 / bl \ bl ~ /
T6éots ad)vKTOLs TOUUOV EKCWOOL Be,uas*. 30
b 3 3 b ~ b \ 4 4
aA’ ovk akpifds avTo Ofoopar Alav:
o7 Yap 00V AYNOoas 00 KAKDS EXEL.
pellw ye uévror s euts cwrnpias
b4 N / 4 3 \ /
etAnpas 7 6édwkas, ws €yw ppaow.
mpdTov uev EAXad’ avri BapPapov xfovos 35
yatav katoikels kal 6lkmy émioTaca
véuots Te ypnobar wiy mpos Loydos xdpw.
EuriPiDES, Medea 502-538

(a) vov ot . . . éowaod oe (lines 1-14): how forcefully does Medea portray the situation in which
she finds herself? Refer closely both to what she says in these lines and to how she says it.
[18]

(b) 8¢t ', . . . xdpw (lines 21-37): what impression of Jason is conveyed in these lines? Refer
closely both to what he says and to how he says it. [18]

[Quality of Written Communication: 4]

[Total: 36 + 4 = 40]
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4 Answer the questions on the following passage:

AI'TEAOX

Ay.

(a) déomowa . .

/4 BN} ~ b \ ~ 4
déomowa &’ N vov avti cov Javudlouer,
TPl wev Téxvwv odv elode Evvwplda,

’ 5 9 \ s ST/
mpSOupov ely’ opbaluov eis lacovar
émera wévrol mpovkalvar’ sppata

4 bl / ¥ /

Aevkny 7’ améoTped’ eumalw mapnida,

/ ~ ) 3 / / \ \
maldwy pvoayleio’ elodovs. méois € oos
3 4 Pl 4 \ / 4
opyas 7’ apipet kal x6Aov veavidos,

/ Q) 3 \ \ b4 /
Aywv 746" OV un dvopevns €oy didos,

/ \ ~ \ / / 4
mavon Oe Buuod kal maAw oTpéfeis kdpa,

/ 4 3 ¢/ N / /
$idovs vouilovo’ ovomep av moais oebev,
8é&n 8€ ddpa kal mapaiTiion waTpos
bvyas adevar waiol Tolad’ éuny xdpw;

7 0’, ws €oeide kGopov, oUK NYETYETO,

bl )y B \ 4 \ \ bl /
alX’ nves” avdpt wavra, kal wplv €k OOpUwWY
pakpav ametvar maTépa kal matdas c€dev
Aafovoa mémdovs moikilovs numéoyeTo,

~ ~ / 3 \ /
xpvoovy Te Oetoa orédpavov audl BooTpiyors

Aapmpd kaTomTpw oxmuatilerar kéuny,
apuxov €lkw TPOTYEADTA CWUATOS.
kamerr’ avaoTao €k Opdvwy SiépyeTal

/ 4 \ / / /
oTéyas, afpov Baivovoa mallebkw modi,
dwpots vmepxaipovoa, moAAa ToAAAKLS
Tévovt’ és oplov dupact orkomouvuér.

5 ’ ’ 5 ’ 3 3Q A
Tovvhévde uévrol dewov v Oéap’ idetv:

\ \ b 4 4 4
xpowav yap aAdaéaca Aexpio maiw
XwpeL Tpépovoa kdAa kal wédis pldve
Opovoiow éumecovoa un yapal mecew.
kal Tis yepaia mpoomodwy, 86€aad mov
N \ bd \ 5/ ~ ~
N Iavos opyas 1) Twos Oedv podew,
bl / / ) ¢ ~ \ 4
avwASAvée, mplv v’ opa da oTopMA
XwpoUvTa Aevkov appdy, Supnatwy 7’ dmo
képas oTpépovoar, alud 7 odk évov xpol:
elr’ avripodmor fkev ododvyms uéyav
/ b \ J) ¢ \ bl \ /

kwkvTov. €0lvs 8’ 1) wev és maTpos dopovs
wpunoev, 1) 8 Tpos Tov apTiws Téow,
ppacovoa voudns cupdopdr: amaca O€
OTEYN TUKVOLOW EKTUTEL OPOUTUATLY.

EuripiDES, Medea 1144—-1180
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35

. vedvios (lines 1-7) and 7 8. . . okomoupévn (lines 13-23): how does Euripides
portray Jason’s bride in these lines? You should refer closely to the Greek in your answer.  [18]

(b) Todvlévde . . . Spaunuacw (lines 24-37): show how Euripides makes these lines dramatic and

© OCR 2010
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horrific. Refer both to their content and to the way in which it is expressed.

[18]

[Quality of Written Communication: 4]

[Total: 36 + 4 = 40]
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Section B

Answer one question. Each question carries 40 marks.

In answering the essay questions in this Section, candidates are expected to be familiar with the
specified parts of the following texts, whether read in Greek or in translation:

1 Plato, Phaedo 60b1-68c3, 69e6—78a9
2  Euripides, Medea

1 ‘There are times when Socrates, in arguing that death should be welcomed and that the soul is
immortal, on occasion takes too much for granted and cheats his listeners. Do you agree with this
opinion?

2 Is Medea a bad person?

© OCR 2010 2986 Jun10
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